
  
 
 

 

  

 

   
 

  
 

  
 

    
 

   
 

  
 

 
 

    
 

 
 

 
 

  

 

    
 

 
 

 
 

  
 

 
 

  
 

      
 

  
 

  
 

    

∆Hr° = Σ∆HB(reactants) - Σ∆HB(products) 

∆Hr° = Σ∆Hf°(products) - Σ∆Hf° (reactants) 

∆Sr° = ΣS°(products) - ΣS°(reactants) 

∆Gr° = Σ∆Gf°(products) - Σ∆Gf°(reactants)  

ΔG° = ΔH° - TΔS°  

ΔG° = - RT ln K  

ΔG = ΔG° + RT ln Q  

∆G =  RT ln (Q/K) 

ln (K2/K1) = - (ΔH°/R)(1/T2 – 1/T1) 

PV = nRT 

R = 8.314 JK-1mol-1 

R = 0.08206 L atm K-1 mol-1 

x = [-b ± (b2 – 4ac)1/2] / 2a 

s = kHP 

14.00 = pH + pOH   at 25 °C  

pOH = -log [OH-]  

pH = -log [H3O+]  

Kw = KaKb  

Kw = 1.00 x 10-14 at 25°C  

pKa = -log [Ka]  

pKb = -log [Kb]  

pH ≈ pKa – log([HA]/[A-])  
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